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QUESTION 1

When does the RTC SCM detect conflicts? (Choose two.) 

A. When incoming and outgoing change sets are coming from the same user 

B. When incoming and outgoing change sets include changes to the same file 

C. When incoming and outgoing change sets include changes to the same folders 

D. When incoming and outgoing change sets are coming from two different users 

Correct Answer: BC 

 

QUESTION 2

What is a Change Set? 

A. An representation of the configuration of a component at any particular point in time 

B. An element that specifies the flow between a repository workspace and its targets 

C. A time stamp that is automatically added to a modified resource within a component 

D. A repository object that collects a related group of modifications to files within a component 

Correct Answer: D 

 

QUESTION 3

In a work item comment, a practitioner types in "defect 2632". Given that there is an existing work item with the ID
number 2632, which statement is true? 

A. The current comment is copied and added as a comment to "defect 2632". 

B. A parent-child relationship is created between the current work item and "defect 2632" 

C. A link to "defect 2632" is created, and a click on the link opens the corresponding work item. 

D. The content of "defect 2632" is copied into the current comment. 

Correct Answer: C 

 

QUESTION 4

What are three Rational Team Concert user interfaces? (Choose three.) 

A. Rational Team Concert web client 
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B. Rational team Concert for Microsoft Visual Studio 

C. Customer Information Control System interface 

D. Rational Team Concert Eclipse client 

E. Rational Team Concert client for Microsoft Excel 

Correct Answer: ABD 

 

QUESTION 5

Which three elements can appear in the Links tab for a work item? (Choose three.) 

A. another work item 

B. iteration or sprint 

C. build 

D. changeset 

E. a team member 

Correct Answer: ACD 

 

QUESTION 6

Which two build types are supported with Rational Team Concert? (Choose two.) 

A. personal builds 

B. composite builds 

C. public builds 

D. parallel builds 

Correct Answer: AC 

 

QUESTION 7

Which two statements are true about the Team Artifacts view in the Eclipse client? (Choose two.) 

A. The view provides centralized access to team-related information and the artifacts that the viewer\\'s team is working
on. 

B. The view can be configured to only show artifacts associated with teams that the viewer is interested in. 

C. The view provides quick information about the project status and can be customized using widgets. 
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D. The view tracks the repository workspaces that are in the viewer\\'s current sandbox, and manages the viewer\\'s
change sets. 

E. The view displays the number of work items by tag attribute for a given query. 

Correct Answer: AB 

 

QUESTION 8

An organization follows the Scrum process template to build a product with multiple releases. What plan type should
they use to track the major goals for a specific product release? 

A. Product Backlog 

B. Release Backlog 

C. Iteration Plan 

D. Project Plan 

Correct Answer: B 

 

QUESTION 9

In a work item comment, what is happening when "@" followed by a user ID (for example, "@clara") is added? 

A. The addressee receives a notification that she was mentioned in the comment. 

B. The work item is automatically assigned to the addressee. 

C. A review is created, and the addressee is added as a reviewer. 

D. The comment is only visible to the addressee that is mentioned. 

Correct Answer: A 

 

QUESTION 10

Which attribute is used to assign a work item to a team area? 

A. owner 

B. category 

C. component 

D. stream 

Correct Answer: B 
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